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A=np.array([[2, -2], [1,0],[2 , 111D
B=np.array([[-1, 2, 1], [2, 1, -2]])

result=np.dot(A, B)
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5, -111)

C=np.array([[1],[-2], [-11, [311)

I

D=np.array([[1, -2, 2, 1], [3, 2,

result=np.dot(D, C)

result

array([[ 6],
[-5]11)







A=np.array([[2,
1, [3, -

np.linalg.matrix_rank(A)
np.int64(3)

a, b, ¢, d = sp.symbols('a b c d')

A = sp.Matrix([
o Ly 1y 1,
[a, b, ¢, dI,
[a#+2, bes2, c#*2, dax2],

[a** , b*x3 cx%3 dxx ]

1
det_A = A.det()

condition = sp.simplify(det_A != 0)
(Iv = Z ?F :Iv)
sp.pprint(det_A)
E” :EE
sp.pprint(condit
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A.inv()

Matrix([

[-2, 3, 2, -21,
[-1, 2, 2, o],
[ 1, -1, -1, 11,
[ 3, -4, -3, 2]11)







A = np.array([

[I' r ]f
[l r ]f
[3, 2, 1]
1)
(matrix):
n = matrix.shapel[©]
cofactors = np.zeros_like(matrix, dtype=
i (n):
j (n):
minor = np.delete(np.delete(matrix, i
is=1)
inor)

cofactors[i, j]l = ((-1) *x (i + j)) * np.linalg.det(m

cofactors

A_cofactor = cofactor_matrix(A)
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(A_cofactor)
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axis=0), j, ax
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A = sp.Matrix([
[ I I ] I
[ I I ] I
[3, 2, 1]
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A_inv = A.inv()
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sp.pprint(A_inv)
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